1. Find the kernel and image of each of the following matrices, expressing your answers as a
span of as few vectors as you can.
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2, Letv= (f 1) be a nonzero vector in R3. Show that the kernel of the linear transformation

2
proj; : R® —» R is the plane defined by 3x — y+z = 0, and express this plane as the span of

two vectors.

e
. o\ _ [ X Vs P 2.3 B .
Pmc}‘?(x) i L\‘r.@)w =0 &= \:’,_——; - & R.3:=0

s i) = 103) | (1)-(3) =<
- 53 | 3x—y « 20 =0
o MTAMA.
To express Aus f’m s & Span of vechos; wr
:f;mol Aot AW Pod'altbl Vedhs in A plose .
~ 2z =

~ 2=-3%

. Qb x=l, 4=0
o terlpge) = g S (F) (25



